— 7 (0D ®
i3 {@3 (()) @ tillegg av brok (riktig brok) (feil brok)

StudentName: ExamDate: ExamScore:

ANl W
+
ANl W

+
DN
I

1 W

+
O | W

Wl O W
_|_

W
I I

| W
_|_
ool &

A
_|_
00| W
I

+
(O N\

ol

+
| W

| W AN
+

|
I I

AN
+
ool N

www.snowmath.com


https://www.snowmath.com

— Ve, i\ (T 0 ©
(B (()) tillegg av brek (riktig brek) (feil brak)

(@]

StudentName: ExamDate: ExamScore:
3 3

—+-=1

6 6

3 7 43 3
_ - = :2__
4 5 20 20
3 3 2

4+ ==

9 9 3

5 2 7 1
T+l ="=9_

3 3 3 3

3 4 11 1
T+ = =1—
5 8 10 10
7 3 37 13
4+ =_=1=
6 8 24 24
7 2 51 11
4+ = =1—
8 5 40 40
>, 37,1

6 2 3 3

3 4 7 2
_t — = - = 1_

5 5 5 5

7 6 23 11
=" =1
6 &8 12 12

www.snowmath.com


https://www.snowmath.com

